Bingo caller’s sheet
	x + 2


	2 more than x
	3 less than x + 5
	If x = 10 this expression is 12

	2x


	Double x
	Half of 4x
	

	6 - x


	x less than 6
	2 more than 4 – x
	

	2x + 5


	Double x and

add 5
	Add x + 1

to x + 3
	

	2x - 3


	Take 3 from 
twice x
	Add x to x + 3
	Take x + 1 from 3x – 2

	X / 2


	X divided by 2
	Half of x
	

	5x


	5 lots of x
	Add 3x and 2x
	Take x from 6x

	2(x + 1)


	Double x + 1
	This is the same as 2x + 2
	

	10 – 2x


	Take 2x from 10
	Double (5 – x)
	

	5x + 4


	Add 4 to 5x
	Add x +3 to 4x + 1
	Take x +1 from 
6x + 5

	4x - 3


	Take 3 from 4x
	Add x + 1 to 3x – 4
	

	3(x – 2)


	Treble (x – 2)
	This expression is equivalent to 3x – 6
	


